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Sentence Match Quiz for Category: imperfect_irregular_1 
Mark the sentence that matches each item below. 

1) Nosotros veíamos la lluvia.
- A: We saw the rain.
- B: The population they saw was that from Guanche.
- C: At first, you thought that I was going to knock you all over.
- D: We used to go to the movies every weekend when we were younger.

2) Nosotros íbamos al cine todos los fines de semana cuando éramos jóvenes.
- A: You were watching the singer on the stage.
- B: We used to go to the movies every weekend when we were younger.
- C: We saw the rain.
- D: The plan turned out to be unfeasible.

3) La séptima era rubia.
- A: We saw the rain.
- B: My son used to be very rebellious.
- C: The seventh one was blonde.
- D: We used to go to the movies every weekend when we were younger.

4) Yo era mimado.
- A: I used to be spoiled.
- B: I used to be mischievous.  (masculine)
- C: I used to go with my mom.
- D: I thought that the boys were going to be able to help Mr. García.

5) No teníamos dinero pero éramos felices.
- A: They were going to work every day.
- B: We didn't have money but we were happy.
- C: I thought that the boys were going to be able to help Mr. García.
- D: We used to go to the movies every weekend when we were younger.

6) Era la una cuando salimos a almorzar.
- A: It was one o’clock when we went to have lunch.
- B: My son used to be very rebellious.
- C: We saw the rain.
- D: He used to be a fireman.

7) Nosotros íbamos al quinto piso.
- A: We were going to the fifth floor.
- B: No, they were slow at walking.
- C: He used to go to the street.
- D: We didn't have money but we were happy.

8) La población que vieron era la de los guanches.
- A: The population they saw was that from Guanche.
- B: No, they were slow at walking.
- C: At first, you thought that I was going to knock you all over.
- D: The plan turned out to be unfeasible.

9) Al principio creisteis que os iba a atropellar.
- A: At first, you thought that I was going to knock you all over.
- B: The plan turned out to be unfeasible.
- C: It was one o’clock when we went to have lunch.
- D: You were watching the singer on the stage.
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(continued) Sentence Match Quiz for Category: imperfect_irregular_1 
Mark the sentence that matches each item below. 

10) Yo iba a la playa.
- A: I used to go to the beach.
- B: He used to be a fireman.
- C: We saw the rain.
- D: No, not all of them used to go.

11) Mi hijo era obediente.
- A: They saw the rabbit running.
- B: I used to be spoiled.
- C: He was my grandfather.
- D: My son used to be obedient.

12) Iba a tomar el tercer curso, pero tengo que repetir el segundo.
- A: I was going to take the third course, but I have to repeat the second course.
- B: We saw the rain.
- C: We were going to the fifth floor.
- D: I used to be spoiled.

13) Tú veías al cantante en el escenario.
- A: You were watching the singer on the stage.
- B: I was going to take the third course, but I have to repeat the second course.
- C: Luis used to go by train.
- D: We saw the rain.

14) Luis iba en el tren.
- A: They said that they were innocent.
- B: I saw the picture of Rubén.
- C: I used to go to the beach.
- D: Luis used to go by train.

15) Él era mi abuelo.
- A: He was my grandfather.
- B: We saw the rain.
- C: I thought that the boys were going to be able to help Mr. García.
- D: The plan turned out to be unfeasible.

16) Yo era travieso.
- A: I used to be mischievous.  (masculine)
- B: The population they saw was that from Guanche.
- C: He used to go to the street.
- D: I used to be spoiled.

17) Resultó que el plan no era realizable.
- A: The plan turned out to be unfeasible.
- B: We didn't have money but we were happy.
- C: At first, you thought that I was going to knock you all over.
- D: We saw the rain.

18) Ellos veían correr al conejo.
- A: I used to go with my mom.
- B: He used to be a fireman.
- C: They saw the rabbit running.
- D: The population they saw was that from Guanche.
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(continued) Sentence Match Quiz for Category: imperfect_irregular_1 
Mark the sentence that matches each item below. 

19) Ellos iban a trabajar todos los días.
- A: They were going to work every day.
- B: The population they saw was that from Guanche.
- C: The bookshelf was my dear grandmother's.
- D: I used to be spoiled.

20) No, ellos eran lentos para caminar.
- A: No, they were slow at walking.
- B: We saw the rain.
- C: I was going to take the third course, but I have to repeat the second course.
- D: We used to go to the movies every weekend when we were younger.

21) Yo creía que los muchachos iban a poder ayudar al señor García.
- A: The population they saw was that from Guanche.
- B: I thought that the boys were going to be able to help Mr. García.
- C: I used to be mischievous.  (masculine)
- D: He was my grandfather.

22) Él era bombero.
- A: He used to be a fireman.
- B: The seventh one was blonde.
- C: We used to go to the movies every weekend when we were younger.
- D: We saw the rain.

23) Le dijeron que eran inocentes.
- A: They said that they were innocent.
- B: We saw the rain.
- C: The plan turned out to be unfeasible.
- D: My son used to be very rebellious.

24) No, no todos iban.
- A: We saw the rain.
- B: No, not all of them used to go.
- C: We used to go to the movies every weekend when we were younger.
- D: I used to go to the beach.

25) Él iba a la calle.
- A: I used to go with my mom.
- B: He used to go to the street.
- C: We saw the rain.
- D: We used to go to the movies every weekend when we were younger.

26) Mi hijo era muy rebelde.
- A: The plan turned out to be unfeasible.
- B: We saw the rain.
- C: I used to be mischievous.  (masculine)
- D: My son used to be very rebellious.

27) Yo veía la fotografía de Rubén.
- A: I saw the picture of Rubén.
- B: I was going to take the third course, but I have to repeat the second course.
- C: I used to go to the beach.
- D: The population they saw was that from Guanche.
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(continued) Sentence Match Quiz for Category: imperfect_irregular_1 
Mark the sentence that matches each item below. 

28) Mientras subía, iba leyendo la carta.
- A: While he was coming up, he was reading the letter.
- B: No, they were slow at walking.
- C: We used to go to the movies every weekend when we were younger.
- D: Luis used to go by train.

29) Yo iba con mi mamá.
- A: The seventh one was blonde.
- B: I used to go with my mom.
- C: I used to be spoiled.
- D: I saw the picture of Rubén.

30) Los muchachos creían que nosotros íbamos a poder ayudarlos.
- A: The boys thought we were going to be able to help them.
- B: I used to be mischievous.  (masculine)
- C: I used to be spoiled.
- D: We saw the rain.

31) La librera era de mi abuelita.
- A: It was one o’clock when we went to have lunch.
- B: The bookshelf was my dear grandmother's.
- C: They saw the rabbit running.
- D: The population they saw was that from Guanche.

32) Nosotros íbamos a la playa.
- A: At first, you thought that I was going to knock you all over.
- B: I used to be spoiled.
- C: We saw the rain.
- D: We used to go to the beach.
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Answer Key for Worksheet b5f92

Sentence Match Quiz starting on page 1
1 = A , 2 = B , 3 = C , 4 = A , 5 = B , 6 = A , 7 = A , 8 = A , 9 = A , 10 = A , 11 = D , 12 = A , 13 = A , 14 = D , 15 = A , 16 = A ,
17 = A , 18 = C , 19 = A , 20 = A , 21 = B , 22 = A , 23 = A , 24 = B , 25 = B , 26 = D , 27 = A , 28 = A , 29 = B , 30 = A , 31 =
B , 32 = D


